betftreug Chap - 2 ¢
Disprge Invhit .. Leol . \G

Vecdtors !

i pagec. 18-22

| | 9= -?' /!n;'ﬂ; 0f{ a vedo”
: VAR
| In o g1

T ;
jﬂx: 74”) & S;?.w (l-{a_;f//x/

T g = scalar
~deN —Nv""

' 2..1/&{;?‘9/ .
Suppoct e hove a collifipu, of B 5 o

o fi] (] o

_ +fwo . . _' . .
assume these ~fhruy vedors is The T Car¥siau wmﬂd{wj

i B MM ensioUs

Any vt er f e ke 2 o # :
caitesiam Eramenil AV A\"_—
, A, }

Ae mf*r'{xw"/{d{ . e

of 2/

Su s

.55
‘:'F i 2 a(," el'
L= 1
r/

i Tlhic  cmre . . .

i



A basis 4 _!Z,‘ A@' the ﬁfﬁf—l@a’# +uad no R \.2.
auw he npewdd by T otls &g

/@¢ #F o o, &€, oy more @{WQ’/{)L

Y ,ARego" "

é“{‘ 7 & > 6’7;?;(_' = {(( / bosis

a f

b 2. e; = [ ”[i]"‘f"‘*?(

T :
29 9 = [/ 93[:] « 14g =1
v

To Afind the colfdsoiuts  « youw Owpufe  Fhe Aot
produg Wik Lade e

s/

AN
.@T/ = =T A
J=4 o 2 &« ad Lo
J= A ~ “J !
Y
Assume {.-[;-J .5:;{_.

e o][z] . 2 = oy prejuiive ok

¥ - axif,
Vou can haw basis L je multof mewusiows N

< 7 Fouriey <Serids



£ = [ fteq) y
= / = =
Azy
: _ N .
40t 2m) TS by sin (nY
Ay
2N}
f 7 gﬂ ’2’ G(,"‘ _4_; ~ & - 42_
o A ; S = s . 'f-:?)
. ; -
Hu/C?’o&'M(wsioqu ot whirg -
rr t ! /] 6056-1- ts oo

aleo Calleqg Ak Fourie.r $Zeids

cu, :
@ f‘;u (e L= p AN ) ou lf” ; 3 = C,osé.?--!:co) $in (f:}

_ : e “
{

T an alo W te more Cosie - L) $iultzay )
Cou ol %

F = £ £ = €

= T i & -1 92_ -

/ =
’(HKIL " éi‘fx 1 “[ v/
(2'”“9 *‘(2‘”*9)‘-1‘



AN

U ater x T ol A g e d
. . MN N tolumn

£ g =
= 4lee Moty €~/
.-L' ] -)



'OL(.JJ' ) Y

J = 4 = ¢ ] 2 PO

¢ i . : (e
i ool to he pobilive ST Aty wve " or

A
,now, ’Wiu;ﬁ 1) e T 0 £or art«,g »
I+ 4is posiUIL difimte symmeliic L
A -4 =
DA rau i atre
e ——
&3
i an
77
s
| "%,
/ }J
gf 7 2V
9? ; 9?: Qf;
/-— RAry = é Y
— 5
N 20
&f'_?_? 27
ae .
=1] T to 1aw o7 T /S M[é,j

g Vevrd ac Vit
2.
Bj Hessan.



